"7 '01n 2,2 naw .7"02

Are we not discussing — 79797 DT 292977 MWAR HIYR RPT JP0Y R M0
a case where he brought it from the 2''719 to the 3''19

OVERVIEW

"WR 17 stated that the Xin of the mwn refers to 710127 (also) as XX He proves it
from the 73wn in 9172 975 which, when stating the n1oX%7 MaR, writes that one of the
MIARYA MR is Mw? Mwan &xwan. This phrase can equally mean taking from the
7"77 and bringing it into the *"77 (which is 701377) and the miwn refers to this as
RXI7 (the term X°X177). This proves that the Xin refers to 70157 as AX¥Y7. Our M>dOIN
clarifies this proof and resolves a difficulty that results from this proof.

— 05390 MYAY NN MYIN D391 NPT NN 1599 (3,7 47) MMPAYT NNDP 992)
And in the first 95 of mwaw ndon the X3 challenges this proof and asks; ‘and
let us say that when the 7awn states Mwa% Mwn R°¥7 it means only that he is

taking out from a 5779 to a 2"'719°, but not that he is bringing in from a 3"77 to a >"7n.

There is seemingly no proof that 7% *p 8% 70137.
— IV MY INN 20390 MIYIY N8I 23N°T 19 ON IYUN)

And the X3 there answered, ‘if indeed the 71wn was only referring to X% and

not 10107 it should have stated 2'"'7% X°x7; why state nw=a® nwan xoxnn?!

Obviously we must say that the 7awn includes in MWwa% MWwan RXNT -
— NN MY D390 MIVYIN ION

even a case where he brought if from a 9'"779 to a 3"'719.” This validates s™wX 21 proof
that 7% >3 7XXI7 70197 RIn.?

mooIn asks

— SIAN IRV Y97 DTN OIY 231 XY FIRINT NTDIN 2INT NIY INI) YIND DN)
And if you will say; and why is there this difference, that the Xin includes the
7790 of ARXWT (which is 1701377) in the mawn of the Max» Max, but does not
include any 577911 of all the other MoX5 Man?!

! See “Thinking it over’ # 2.

2 The phrase 2"77% X°¥m7 is not any longer than mw1% mMwan ®xm7; if the 7w» meant only AR it should have
stated 2"7777 XX

3 See w"R77 MpOIN that MdOIN is not satisfied with 7 7"72 >"w19 in explaining the proof of 1Py K7 .

4 We have just shown that the X310 in 9172 995 made a point of including 70157 (which is a 7771n) in the 71wn of the
NIRY1 Mak (by writing Mwa? Mwan ®°¥1n7 instead of 1" Xoxwnn).

5 See ‘Thinking it over” # 1.
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N190IN answers:
— DMIYY N¥YY 7PN BN MTIIN INY 9937 TUN 12 PNYY 19939 XPM

And the X'"2°1 answered that regarding all the other ny7»n if the Xin would
have wanted to state them -

198193 Y N9 NN NPT NN AR 1MWYA TPINNY T098 19N
It would have been necessary to elaborate and add words to the 71wn; however
regarding 5101277 which is called x8xy7, the XiIn can include 70107 with RXWT
briefly without adding (much). There is no need to elaborate.®

SUMMARY
The m1wn when it states NIWI2 Mwn X127 includes 7701077; otherwise it would state
3"70% Xoxmn. The mwn includes the 7770 of 170157 only, because it required no
elaboration.

THINKING IT OVER
1. Is there a connection between that which nwoin cited from and the “myaw
subsequent question?®

2. Why does the X7n3 ask this question® (2" "7 P51 X7 X2R1), only in naon
My2aw and not here in N2W nNon?

6 See "m n"7 2,7 My12w Moo that the N"7 answers that since XX (and 703137) is a 7YX 7989 he included 770137 as
well. See w"X77 nvOIN who accepts the "3 yo°n, and the X"27 y17°n merely explains why he does not include the
other M77n (because TIRT? X 1797), but does not (sufficiently) explain what compelled the ®in to include 70137,

7 See footnote # 5.

8 See *n 7w naw.

? See footnote # 1.
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